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Ex1: The chemical substance that reacts with HCl and NaOH is called…….

	Answer:


Ex2: What can we do to distinguish these white powder mixtures: CaO, Na2O, MgO, P2O5?

	Answer:


Ex3: After dissolving completely 3,22 grams a mixture X consisting of  Fe, Mg, Zn with a adequate amount of watery H2SO4, we have 1,344 litters of Hidro (in standard condition) and a solution containing m gram of salt. Find m?

	Answer:


Ex4: Adding CO gas (surplus) through a heated ceramic pipe containing a mixture X having Al2O3, MgO, Fe3O4, CuO, we have a solid Y. Adding Y in solution NaOH (surplus), stir well, we can see a substance Z, which can not be dissolved. Supposing that the reactions occur completely. The Z is/are………

	Answer:


Ex5: we have these chemical substances: NaOH, K2SO4, HCl, BaCl2, CO2, Mg Which couples of substances react with each other?

	Answer:


Ex6: we have a reacting model NaCl → (X) → NaHCO3 → (Y) →  NaNO3.X and Y can be…..

	Answer:


Ex7: a 5,4–gram metal M reacts with surplus Clo gas to produce 26,7 grams of salt. Find M?

	Answer:


Ex8: adding 10,5 grams of two metals (Cu and Zn) to a surplus solution of acetic acid, we have 2,24 litters of gas (in standard condition). The percentage of each metal……….

	Answer:


Ex9: we have these couples of substances : 1/ K2O và CO2  2/ CO và K2O  3/ K2O và H2O  4/ KOH và CO2  5/ CaO và SO3  6/ P2O5 và H2O  7/ Fe2O3 và H2O8/ CuO và SO2.Which couples react with each other?

	Answer:


Ex10: we have these metals: Na, Mg, Al, K. Please pare these metals back to minimum according to metal direction.

	Answer:


Ex11: adding a V gas to a 3,7-gram Ca(OH)2 solution. After that we have 4 grams of precipitate. Calculate V.
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	Ex
	Answer
	

	1
	Al
	

	2
	water-soluble and utilisi phenolphalein 
	

	3
	8,98g 
	

	4
	MgO,Fe,Cu
	

	5
	4
	

	6
	X:NaOH;Y:Na2CO3
	

	7
	Al
	

	8
	%mCu=38,1%; %mZn=61,9%
	

	9
	1,3,4,5,6
	

	10
	                                         K,Na,Mg AL
	


Ex11: n Ca(OH)2 = 
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 = 0,05 mol

nCaCO3 = 
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 = 0,04 mol

CO2  +    Ca(OH)2 
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  CaCO3    +    H2O

· if CO2  no surplus   :

n CO2  =  nCaCO3  = 0,04 mol

 V(đktc) = 0,04 x 22,4 = 0,896 l
· if CO2 surplus :

 CO2  +    Ca(OH)2 
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  CaCO3    +    H2O

0,05 
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 0,05 mol 
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 0,05

 CO2   +   CaCO3  +   H2O   
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  Ca(HCO3)2
0,01
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(0,05 - 0,04) mol

total molar nCO2 :  0,05 + 0,01 = 0,06 mol
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 V(đktc) = 22,4 x 0,06 = 1,344  l 
